
Score:Grade:Name:

3D - 2D Subtraction

550-96=? 365-22=? 382-49=?
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Worksheet #4

Learning goal: Students will accurately subtract a 2-digit
number from a 3-digit number identifying from the abacus and
representing the difference on the empty abacus.



Score:Grade:Name:

3D - 2D Subtraction

550-96=? 365-22=? 382-49=?
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Worksheet #4(Answers)

Learning goal: Students will accurately subtract a 2-digit
number from a 3-digit number identifying from the abacus and
representing the difference on the empty abacus.


